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3,6-14. A candy maker produces mints that have a

Jabel weight of 204 grams. Assume that the
distribution of the weights of these mints is
N(2137,016).

() Let X denote the weight of a single mint
selected at random from the production line.
Find P(X > 22.07).

(b) Suppose that 15 mints are selected indepen-
dently and weighed. Let Y equal the number
of these mints that weigh less than 20857
grams. Find P(V = 2).
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. 1f15 observations are taken independently froma

chi-square distribution with four degrees of free-
Gom, find the probability that at most 3 of the 13
observations exceed 7.779.

110 observations are taken independently from
a chi-square distribution with 19 degrees of free-
Gom, find the probability that exactly 2 of the 10
sample items exceed 30.14

o]





3614 A candy maker produces mints that bave &
ol weght of 204 grams. Assume that the
ibution of the weights of these s is
N(21.37,016)

(3) Let X denate the weight of a single mint
Seected at random rom th producton inc
Fnd PLX = 207)

(6) Suppose that 15 minis ae seected ndepen
Semty and weighed. Let ¥ equal the numbe
o thise mints that weigh les than 20857
grams Find P(V = 2

collccing e crguen
3515, 115 bservation are taken independenty rom &
htsquare distrbution with four degrees of rec

oretind the probabilty that at most 3 of the 15
‘obeervations exceed 1.779.

3516, 1 10 observations are taken independenty rom

A o cquare distribution with 19 degress of ree

o i the probability that cxactly 2 of the 10
ample items exceed 3014




